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Erratum

In the article, equation 12 is given by:

C(P) =

Y∑
y=1

πy (Oy +Hy)

Y∑
y=1

πyTy

+
Y∑
y=1

πyWy.

However, the correct equation is:

C(P) =

Y∑
y=1

πy (Oy +Hy+Wy)

Y∑
y=1

πyTy

.

In the article, equation 15 is given by:

Pyz =


N∏
i=1

(λiL)(Iyi−Izi) e−λiL

(Iyi − Izi)!
if Iyi≤Izi ∀i ∈ N,

0 otherwise.

However, the correct equation is:

Pyz =


N∏
i=1

(λiL)(Iyi−Izi) e−λiL

(Iyi − Izi)!
if Iyi≥Izi ∀i ∈ N,

0 otherwise.
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In the article, equation 16 is given by:

Pzx =


(∆zx − 1)!∏N
i=1 (Ixi − I ′xi)!

N∏
i=1

(
λi
λN

)(Izi−Ixi)
if Izi≤Ixi ∀i ∈ N,

0 otherwise,

However, the correct equation is:

Pzx =


(∆zx − 1)!∏N
i=1 (Ixi − I ′xi)!

N∏
i=1

(
λi
λN

)(Izi−Ixi)
if Izi≥Ixi ∀i ∈ N,

0 otherwise,

We would like to thank Sandria Weisshuhn and Sandra Transchel for pointing out these mistakes.
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